1 2 3 | 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELFASE LJH 08/13/05’ 2 LJC 08/13/05’
ITEM | PART NAME Q'ty NOTES B S ] YCH 09/13/07" Y LJC 09/13/07’
— I 1 PLASTIC HOOD 2 | ABS C s eplaige - | YCH 07/18/08° U LJC 07/18/08’
. o , [21] tone soL 2 | #4-40 D s 4ty 3% | YCH 05/20/10° Y LJC 05/20/10’
- ‘ - 2.2 SHORT BOLT 2 #4—40 E M3+ 1284 yM3%10 | YCH 08/30/10’ Y%
| 3 NUT 2 M3 NOTES:
4 LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
24.99 5 SMALL WASHER 2 2. PART NUMBER CODE:
6 SHORT SCREW 2 M3 DS1045 — 09 X X X X ><1
7.1| METAL WASHER 2 Washer type
30.8 7|7.2| PLASTIC—1 WASHER 2 ; ’\FA)‘GtOt‘ T(L Kt >
- : Plastic—1(Lock type
12.0 73| JRASTICo2 WASHER 2 3: Plastic—2(Screw type)
! Bolt type
‘ |_—|2 L: Long
— —_— N S: Short
— ‘ — Packing type
‘ 1: Mix packing
‘ 2: Separation packing
[ Q: Full packing
‘ ©of = Cover Material
| S P: Plastic(ABS)
|- ‘ Cover Color
— @ L L A: Gray
| | B: Black
| V: Ivory
Position
‘ 5 s 09: 9pin
o .
p 1.0
s UNC#4—-40 M3 3
RN
0 — S
8 0 - 5.40
L '
Y u_‘ | Short BOLT NUT t=2.3mm
M3 5
4 Q \ <48
! ‘ L I} i T ‘ o /- & |
C v Y | | |
T | L - il | R 4[/} @3\.27 $ B 0
2 Li]\ ‘ F~ o
4—40 UNC 3 9 e P ‘
< ™)
s o 2 Metal Plastic—1 e il S A SMALL WASHER
@ A == T -——- GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @) - [ TITLE N ATE
e ” X. £0.60 X. %5 UNITS mm e
8.8 3 / . 10 e SERIES | DS1045 SERIES
13.5 s X +0.38 X 3 SHEET SIZE A4 |
0.5 XX +0.25 XX £2°
»
44 DRAWING TYPE |COSTOMER )T% ﬁ]ﬁj EE ? ﬁ I:{E Z\ a
Long BOLT SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C=DS1045—09xxxxx—t | conmnFLy CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


1 2 I 4 5 | 6 I 7 I 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A NEW RELEASE LJH 05/18,/05’ ~ LJC 05/18/05°
ITEM | PART NAME Qty NOTES B A4 0 YCH 09/13/07 ~ LJC 09/13/07’
/—n—‘—nﬁ‘ ! PLASTIC HOOD 2 | ABS c IR ) | YCH 07/18/08 ~ LJC 07/18/08’
U—M—U , [27] LONG BOLT 2 | #4-40 D w4t %m | YCH 05/20/10° ~
| 2.2| SHORT BOLT 2 #4-40 NOTES:
33.39 l 3 NUT 2 M3 1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 DS1045 — 15 X X XXX
Washer type
6 SHORT SCREW 2 M3 1: Metal
7.1| METAL WASHER 2 M3 2: Plastic—1(Lock type)
7 |7.2| PLASTIC—1 WASHER 2 ABS ;: E‘fsm*z(screw type)
[¢] e
7.3| plasTic—2 WASHER | 2 ABS L: Lonygp
S: Short
1 —\ | Packing type
E | 1: Mix packing
) \ ! 2: Separation packing
| Q: Full packing
‘ Cover Material
2 P: Plastic(ABS)
) Cover Color
0~ 15.7 A: Gray
b ‘ K 1.0 B: Black
[ S UNC#4—40 V: lvory
M ——Position
ffL—JrH——— 15: 15pin
Short BOLT
12.0 - .
9.9 o &@\ LONG SCREW NUT t=2.3mm
|
]
Y \ — W | I
N : ; -
1 J M o] EZ 7.7 |
L\ ‘ J i ‘:{ o 25 | MB‘E s’)g _\ ;
N ‘/?2‘3 v ! £3.2 |
sS4 < M25 | | 7473&7 ]l < L o
2 Wi S
Metal Plastic—1 Plastic—2 l :
4—40 UNC 3 - T - - - - - - - |
I SHORT SCREW SMALL WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION - TITLE
i | © &R ME 0 T Kus 15pin Hood
4.0 X. +0.60 X. 45 UNITS mm
6.6 8 Y X +0.38 X %3 SHEET SIZE A4 | SERIES [ DS1045 SERIES
13.5 4 3 XX £0.25 XX =2
305 DRAWING TYPE |COSTOMER }1% ﬁl;] EE ? %‘ KE /A\\ a
P SCALE 1:1 | SHEET |1 OF 1
ong DRAWING NO. | C—DS1045—15XxxxX-D | commFLy CONNFLY ELECTRONIC CO. LTD
1 2 I 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 10/26/05' ~ LJC 10/26/05'
ITEM PART NAME Q'ty NOTES B AL T YCH 09/13/07’ ~ LJC 09/13/07
54.0 1 PLASTIC HOOD 2 ABS C AEFLGERIRIE 22 S | YCH 07/18/08’ ~ LJC 07/18/08’
47 04 : 5 2.1| LONG BOLT 2 #4-40 D 7 4 e YCH 05/20/1 o’ ~U
2.2| SHORT BOLT 2 #4—40
A j 3 KT Z M3 NWOTES:d Il Nickel plated
. arawares are a ICKEl platea.
‘ ! u NG SCREW 2 M 2. PART NUMBER CODE:
! :I'Iﬂ 5 SMALL WASHER 2 DS1045 — 25 X X X X X
T J 6 SHORT SCREW 2 M3 T Washer type
1: Metal
‘ 7.1| METAL WASHER 2 M3 2 2: Plastic—1(Lock type)
7 |7.2| PLasTic-1 wASHER | 2 | ABS _\ —* 3: Plastic—2(Screw type)
7.3| PLASTIC-2 WASHER | 2 ABS o UNC#4—40 Bolt type
] L: Long
8.0 S: Short
Y -
% t —1 Packing type
1: Mix packing
2: Separation packing
Short BOLT Q: Full packing

e

(-

NUT t=2.3mm

Cover Material
P: Plastic(ABS)
Cover Color

A: Gray

B: Black

V: Ivory
Position

25: 25pin

9.5

o o |
" e Al
o o i I 6
b & = - = 1 | 1 1 l 1 ]
| (e g \
2 M3 §
I . P\Estic 1 _ 'y f‘SSﬁC*Q w3 s
4-40 UNC 8 =
by g SHORT SCREW
| — e osssss GENERAL TOLERANCE| ANGLE TOLERANCE —F [TILE
I,m I PROFE I @ 4 D—SUB 25pin Hood
Y o . X. +0.60 X. %5 UNITS mm
135 Q2 3 X +0.38 X £3 SHEET SIZE A4 SERIES [ DS1045 SERIES
: s XX +0.25 XX £2
44 DRAWING TYPE [COSTOMER )E #]] EE % ﬁ‘ I:{E j
Long BOLT SCALE 1:1 |SHEET [ 1 OF 1
DRAWING NO. | c—Ds1045—25xxxxx—pD | €omRFLY CONNFLY ELECTRONIC CO. LTD
2 ! 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


1 2 4 5 | 6 | | 8
oM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A NEW RELEASE LJH 10/26,/05’ ~ LJC 10/26/05’
TEM ;&EEAXSOD QZW — NOTES B A 51 YCH 09/13/07" ~ LJC 09/13/07’
N BoL T 70 c 2 ) | YCH 07/18,/08" ~ LJC 07/18/08’
2 N ;
p——— 2 T a0 D s A% %% | YCH 05/20/10 ~
3 NUT 2 M3
4 LONG SCREW 2 | M3 NOTES:
1. Hardwares are all Nickel plated.
S SMALL WASHER 2 2. PART NUMBER CODE:
6 SHORT SCREW 2 M3 DS1045 — 37 XXX XX
7.1| METAL WASHER 2 M3 }A{OSZ‘EQ‘WPG
7 |7.2| PLASTIC—1 WASHER 2 ABS 2: Plastic—1(Lock type)
7.3 | PLASTIC—2 WASHER 2 ABS 3: Plastic—2(Screw type)

5

Bolt type
L: Long
S: Short
Packing type
1: Mix packing
2: Separation packing
. 13.7 Q: Full packing
% Lo Cover Material
‘ L UNC#4-40 P: Plastic(ABS)
q ————Cover Color
7,67\7,“},7, A: Gray
B: Black
V: Ivory
& Posit'\on_
5 Short BOLT 37: 37pin
3 4
M3
n M3
o| x — ) @
NUT t=2.3mm LONG SCREW
5 4.‘8
140 9? og, l °
HE R
M3 16.0 < IS ‘
5 T A nair
Qi 4 (== il w 3 #
2L 1% e | M|
2 covew  rodlgdene f T RTER AL o ~
0 o SHORT SCREW
4-40 UNC E :
b 1 GENERAL TOLERANCE| ANGLE TOLERANCE —F | TITLE
@ i I BB PROEETIPN @ 4 D—SUB 37pin Hood
2o ] - X. +0.60 X. %5 UNITS mm
o 2 & X +0.38 X 3 SHEET SIZE A4 | SERIES | DS1045 SERIES
13.5 05 XX £0.25 XX 22 LI\
4 DRAWING TYPE [COSTOMER @ e ﬁ[)] Eﬁ ? ﬁ BE /A.\ a

SCALE 1:1 [SHEET |1 OF 1

Long BOLT

2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章

Administrator
新建图章


2 3 4 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 05/24/11° ~
69.50
61.00
NOTES:

1. PART NUMBER CODE:
DS1045 — 50 X X X

Packing type
1: Mix packing
2: Separation packing

1
11.10 53.80 Cover Color
A: Gray
B: Black

D i D | N A
\ Cover Material
CD P: Plastic(ABS)
—— Position
50: 50pin
77 I T T U o ™ -
&
< ¥ }
3
Vs = T \
M3 g UNCH#4—40 o
1272 '\“}l @/
5.0
NUT t=2.3mm 525 6.0
D,
e S
Q% q/—\@ 4 BOLT
—~ 11.5
A @ ©
i " LONG SCREW
6
5
3.5
@ &
BOM LIST LONG SCREW BIG WASHER
ITEM PART NAME Q'ty NOTES
1 PLASTIC HOOD 2 ABS
GENERAL TOLERANCE| ANGLE TOLERANCE — [TITLE
2 BOLT 2 #4-40 PROJECTION @ 4 D—SUB 50pin HOOD
3 [ ot 2 [ws X. +0.60 X.  +5 UNITS mm
4 M3*10 SCREW 2 M3 X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
5 | M3*12 SCREW 2 M3 XX £0.25 XX x2
6 BIG WASHER 2 M3 =] A 1N /\ —y
DRAWING TYPE [CUSTOMER ).L?é /]ZI Z_\ =
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. C—DS1045—50XXX connFLYy CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8



123
新建图章

123
新建图章


